W

10882 gRE R TH iz FHHES F o952

AL PR RA e EY RSN E S UTHE TR % 0

7

S

A f ARt %h«u%4_%%ﬁ¥*ﬁﬁﬁ%*ﬁ*’**
W gi ',J’L_‘/E‘ l% # *® F%Ii—‘ifr§ﬁ mz@%?&{’ @m #&ﬂgi §§g7 _g,: i < El:. ’ ji 1l jl’l..
TR ARBEREFIR TR R F AW B 5 s 1L 2%

Aikikyp 102 £ 4 7 18 p 101 FE R ¥ 2 A+ RELE 2 #:rpﬂ:«%?
BWER A FNE k05 FERANFIEHRAL  p 103 FER »FAT2AH %
EFARARNRBERT S S - BT 25 EE CEF 2 B2 3rf s
(48§ * TOEIC750 & 12+ ; TOEFLIBT % 71 41t ; IELTS =% 6.0
ui:é%ﬁﬁﬂ%ﬁﬁﬁﬁﬁ)*3i§#%$ﬁ%éﬁ¢%§%’ﬁ**w@
Fha g BB BXEFPE T ERPHR (LED 4L -TED 4 S At
BN TEH L pEHSAE TEHE 80 A\'fﬁ R d Ste =t — B Hp 2 p|5k 'lir,, 4
EN 8OA\'%Z’*’“‘9LK4\:**’5¢/P‘5§)£ P ghmrterdFE o2 2% CEF 2 B2
oA RETHR . (FRERR I FCAS RSB
http [lwww.management.fju.edu.tw/_chinese/01 about/02_lawdetail.php? AID=9&SID=9
REERSRBAM>ZRAF>BERTS FoAFFmFl L F3nE L 55 =

)iifk'\%‘fiﬂ%%ﬁ%ﬁa&J

(=) Fwria:
1 ¥ 105 $ &R ~ 8> 108 $ER L Aw B4 0 L34 =
(1078 ER) #HP % w W FCEFB2E 52 Bty 2543
PRE L\ R o
2. EFRFEE A g3 F kMNP FRE b aRE
R b ¥ A~ FARFE F 8B L iEs

i
Bt g pa Y

(=)~ it
1 (Biz 3 83 3F) ek (T3 Bk ( § 3383 :
ﬁ" ; ZL F%ﬁi}g’ 1§ /[&1§ E’F Fg MP3 ]) HEE - ARXTHE @ e

2. 2 BH 2454w 5108&2 10" % 12 7" 822109 £2 3% 2 50 o

BA AN AWM KM LR P hEERET A RRBRBET ) EH Y F
2o MRBELAR AR A KBEF R


http://www.management.fju.edu.tw/_chinese/01_about/02_lawdetail.php?AID=9&SID=9

(=

)‘

1 #58edE ] t B R BlsRN TR AR L TR 2 TR
«wo%gﬂﬁﬁmﬁﬁ%&f%@@ (friE-) o

2. PHP AR L E S Rk 0 3TN A2 2 13:40~14:20 i (7 o
FRISRPEE S A0 A 4E e 3wl p W AT G T F AR 108
FER v m~> g FHE> TP L SFAARTP
THRPFFARRD YREFFA R o3 12:40-13:20 43 o 4o T
HFRFIREEEEGER > Faky Fd ot BEF 2 KE -

3. B XEEZ PIBHIHEE L8 (- EHplkLx)

4 FF R EYsFEAI L AT I N x  RES R YA R

SHES RN RN R SR & A

AHNE XD B R R N T AR EE MR LGN
HE oA PERBET TR 0 4 0

BT 108 H ER 4w o AL p SRS F 4k A

1088 £#R%- S8 -09/09 Bt 3%

G P ] R » gL FL& T AR
2018 & 10 * % Lk iw ki
10/16 (= 13:40~14:20 | &71idy %z ¥ i ar
&)1 oio-10m0 FIHRIHRE | gy
10/21 (- ) Y F R | 12:40~13:20 | 4 ¥ %% LM301
2018 # 10 * & Lok aw A
10/30 (= 13:40~14:20 | & 71idy %z ¥ {71 4
&)1 o100 FIHRIRE | gy
11/04 (=) ¢ EREF | 12:40~13:20 | # % %% LM301
11/04~11/09 # # %
12/11 (=) 2018 12 * 5. 13:40~14:20 | & 3Td ¥ % £kt A ¥ i A
= :40~14: Tip TR X 7w
12/01~12/10 PTTRETE laspeps
12/16 (- ) ¢ EREF | 12:40~13:20 | # % %% LM301
12/18(=) 2018 12 * 5. 13:40~14:20 | & 31dy ¥ % £kt A ¥ i A
= AU~14] 1 T3 X% {7 4%
12/11~12/18 PTTRETE laspeps
12/23 (-) Y #FF | 12:40~13:20 | 4 ¥ %% LM301

01/06~01/11 # % %




1085 2R%- 2 -0217 B4ot &

T Ep P # F R 2 13 FER P T
] 2018 & 3 7 & R B
03/11 (=) 03/01-03/10 | 1314071420 ERLpRKE |, y s § A A
03/16 (=) | #% #Hk ¢ | 12:40~13:20 | 4 4 % % LM30L
2018 & 3 ' B ] P
25 (= :40~14:20 | A Fih Tk E ¥ 71 4v
03/25 (=) 03110300 | 1340-14 SRR |, LR
04/06 () | #% #Hk | 12:40~13:20 | 4 4 % % LM30L
4/13~4/18 ¥ %
2019 & 5 » & ] ET T
05/13 (= 13:40~14:20 | 271 % %% ¥ 73 4
(=) o5/01~05/10 | — %0 ¢ TR B EEAE
05/18 (- ) | #% # Mk ¢ | 12:40~13:20 | 4 %4 %3 LM30L
2019 & 5 & ¥ . ER R W 4
05/27 (= 13:40~14:20 | &7, % %% ¥ {7 4
(=) 05/11~05/20 | o490 PR RRE | EAL R
06/01(-) | #% # Mk ¢ | 12:40~13:20 | 4 %4 % LM30L

6/15~6/20 & % 4

UG RA YR LY £ 12:140-13:20 & - R R R

PN S SR S LS zﬁm (Biz 38 &) fezh (Tl 8 (7 3%
F2P 3 MP3} #t8 fuie b si- 3R R G Jeght S # £ 3 (CD-ROM)=130 =~/
= E5EHEr 2 ﬂwéu\‘%!],; 108 & 10 * % 12 * % ¢ 109
£ 302 5 B APk i ERF L EW 5 9/18-9/22

Bl i RF et
(1) & T84 108/08/17(+ ) 16:00 # + 4 % 2o 27 i B -
https://goo.gl/forms/MRmHNyOlzqyzejgl3 4 1% ¢ se k37 pi iﬁﬂ?ﬂr % o
(2) B 214 108/09/09-13 9:00-16:00 =* 7 TR 2 2 LM210 3R & %‘}3’ #*
(5 F%30 > FA- A= B BAK LS00~ & THEP Lk B
TR P 28520 L A X HE ASH) s s FITE o REL VAR

LR o
I B L A 108 ?J&};&:%% A A ST ARNEAZ P EHELD R
CEFB2 32 Bt Ry #F 2 107 HERUTFAE I FhERnuwd gl o

S R KR ERALRISR Y 0 2 R E o



https://goo.gl/forms/MRmHnyOIzqyzejgI3

- \4,,\,Jpé;;z__k;}%,{zw494%1@794?3;#u§3i E;U;\;‘gﬁo

ANARPIAZET > BB A2 I E R dn b R 2 R AT o
P

Lov a2 AR 2 R 2 S EARR] o R T B SRR 2 TR S AR

L APEENEREL106 £ER Y 2 A6 R

PRI EEFEREEZ A e o lMﬁ““”—“ﬁs\ &0 F A Y 2 80%
FECTEFRINATEP Y P EE R GrEGER L 1 LM210 5 g Bt
A - pwRRE 2 FEER 1 LM210 5 1 at;iww Al AP H A

A o M- YR L R XY EEE R Y - 12:40~13:20 0 A H K% 5 LM301 -
NPT P FRFE IR ERFREY 702 ;#\zjum‘a"{iﬁg;:‘z LEEATE

LW EAF 1068 ERY 2 %
KA RLE SFREPTE 2T %> Brprk o

2B

FIWE R R AR
TEL : (02) 2905-2653
E-mail : 036047@mail.fju.edu.tw

SER A

B g (LM210)
TEL : 2905-2960
E-mail : 068459@mail.fju.eud.tw


mailto:036047@mail.fju.edu.tw

(i -]
FRERAr FFp £ Biz Rl

RS & AR

% R RH RN <BIZ I B EF>aA 0 T R T AR R %?%%Wm
FERE CRAETR B FAUNREFEFIRT AP REFF 1 E
P AR - B AR L B IERY B2 e R o

)

Lm0 5 RS B 5 S R ETAALR b LR R A R -

2. RS T RMAET TF -
LRI PR (% 40 A 4B) o B TEGY RIS PR(S 10 A 4B) 0 R - T Gt
R ek A F R T - BRAD G ERL v BH AR A KA
B TR RIRE o LB LR - Mt

4 RALFMALE Yo B R 58 o P AL 4 WARIEAL > A 2
21 -

RSP B

13 B P Ab FRERPSS
B3 g>$¢;,t’ TR e R
T 2R

RSkt g AEHFEER A e B X URBAF Y EFLS LK
NE oo BlBEEEAR X 0 1B kP ¥ ¥ eh<Biz 3 #

%

| d

1;
P A ckenE e FAL MM S A 8 3
I

APl ATEH BR L A0 4 B 2588 20 E HER o A (Fa L 4R
A BRF - AFERPE

>
>

— ~ 3¢ . 4 (Listening Comprehension )

M4 103 LHRCDF Pt 24 - Lo VA ERI LB LEEF D
SR el s EEE R R o RERGRATRIIN B r B R AL A DY SRR S
H5 10 448 -

% % - 3% ¢ 5 B34 (Picture Description) - AEB% (rE-)
% % - 30> i ‘®%3E (Best Response Questions) ZA12% (z E-)
%% Z %> 1 fi e (Conversation Questions) ZA/12% (= E-)



e (Short Talk) Z3/8% (2 iE-)

S
oAl RE

A

G 1L A 2 EA P GRS SR SR 2 d 0 Kl
MR - T RFRF L3044 Y27 AFApkp et ARERZ FHER -

k& - Wix D F R % 2Epl% (Fill-in-the-blank Questions ) — %528 % (= £ - )

% - 300> 1 kT Pl% (Cloze) 7 420% (2 F-)
k% = 30> ¢ BB (Passage Questions) Z312% (2 E-)

Fobo FARISRT R T PR EE A RIRE YN Ao - T o T A E R E
BARITE LR DI RETN T -

\M‘*

)‘LA’\ pq

FA-Rr RILEFRL LY o FEA gl FHEGL FEH AP
A5 100 A 0 A oA RS AL > B aE A lde -

A

BIE fn HRATH

TEL : 2905-2960

E-mail : 068459@mail.fju.edu.tw
PR3 L AIE T < - LM210

RS o O 2 3P
detit it 101, 12 5 e



[+ 1-1) Biz gFir 3 &

biz E ﬁ“tﬁ Biweekly Review Tests December 2017
R oo Test 4A 12/11~12/20  pp. 26-51
Class: No.: Name:

Section One: Listening Comprehension

Part 1. Picture Questions (8%)

For each picture, you will hear four short statements.

Choose the statement that best describes what you see
in the picture.

(

( )2

Part 2. Best Response Questions (12%)
Listen to the question or statement and choose the best
response.

() 3.(A) Yes. He quickly found where he was
going.
(B) Oh no! How did he get lost?
(C) I know. He got pushed around a lot.
(D) Don’t worry. He’ll be all right.

()4 (A)Great. I've wanted to play against you.
(B) Good. I'll help you beat Danny and
Andy.
(C) That’s too bad. I want to play against
ou.
(D) No thanks. I don’t need your help to
win.

( )5.(A) They come from many different

cultures and backgrounds.

(B) Only the smartest students attend this
school.

(C) You have to be wealthy to afford this
school.

(D) A lot of students here don’t care about
their studies.

Part 3. Conversation Questions (12%)
Listen to each conversation and answer the question.

() 6. (A)He’ll pay for the woman’s dinner.
(B) He went over his credit card limit.
(C)He’ll charge his dinner on his card.
(D)He owed the woman some money.

() 7.(A) It usually rains a little.
(B) There’s never any rain.
(C) It should be raining a lot.
(D) The rain won’t be enough.

() 8. (A) Sheis going to the gym.
(B) Running late at night is better.
(C) Walking Lucky only takes 5 minutes.
(D) She just got back home.

Part 4. Short Talk (8%)
Listen to the paragraph and answer the questions.

() 9. (A)What to do before taking time off.
(B) How to take time off in the workplace.
(C) The effects of taking time off.
(D) School rules about taking time off.

() 10. (A) Tell your boss in advance.
(B) Ask coworkers for advice.
(C) Start looking for a new job.
(D) Find out if you’ll still get paid.

Section Two: Reading Comprehension
Part 1. Vocabulary and Phrases (28%)

() 1. Our new hires must agree to our
corporate values while on-site for the
duration of their contract.

(A) reject (B) insult
(C) inform (D) embody

() 2.Brands can customer loyalty through
emotional bonding and relationship selling.
(A) foster (B) impede
(C) prevent (D) propose
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() 3. High turnover problems for
employers in terms of sunken costs and
retraining needs.

(A) fixes (B) trims
(C) poses (D) reduces
( )4 to your values in the face of criticism

1s necessary for maintaining personal
integrity.

(A) Going up (B) Staying true
(C) Bowing down (D) Getting around

() S. All revisions to the current personnel
regulations will on January 1, 2018.
(A) take off (B) take hold
(C) take away (D) take effect

() 6. The teenage years are the period of
from childhood to adulthood.
(A)isolation (B) construction
(C) inspection (D) transition

() 7. The ability to is based on the ability
to sense the changing of the times.
(A)intercept (B) innovate
(C) reconcile (D) characterize

Part 2. Cloze (20%)

The Eslite Corporation began as a local
bookseller in 1989 with a focus of offering books
related to art, culture and creativity to Taiwan.
Now internationally known for its 24-hour Dunnan
branch, the company has grown to _ (8) the
very best in local design products and local
cultural events. Although the company remained
unprofitable for several years, 2016 brought record
earnings due to the success of the Eslite Spectrum.
Through mentoring new brands and providing a
unique retail platform focused on luxury products,
the group has _ (9)__ their marketing formula to
perfection. The brand has built loyalty by offering
quality goods sold through experiential marketing
that includes design decisions coupled with
customer _ (10)  through performances and
_(11)_activities. Now a  prosperous
second-generation business run by successor
Mercy Wu, the company is concentrating on
overseas expansion and competing with online
retailers while _ (12)_ an even stronger presence
in the domestic retail market.

( )8.(A)realize
(C) organize

(B) catalyze
(D) epitomize

( )9.(A) twirled
(C) tweaked

(B) twisted
(D) twinned

() 10. (A) tendency
(C) collection

(B) invention
(D) engagement

() 11.(A) hands-on
(C) hands-free

(B) hands-off
(D) hands-down

() 12.(A) flexing
(C) fostering

(B) festering
(D) flaunting

Part 3. Passage Questions (12%)

Along with being world-renowned for quality
coffee, Starbucks is actively striving to become a
global leader in corporate social responsibility.
Since 2002, the company has released
transparency reports detailing initiatives designed
to meet ambitious ecological goals and ensure
ethical sourcing that benefits workers all along the
supply chain. Recent successes include the
creation of the CAFE (Coffee and Farm Equity)
Practices program and transition to sourcing 99
percent of its  coffee  ethically, the
employee-funded and -designed Origin
Community Grants and Farmer Support Centers
that support the health and stability of coffee
farming communities, greening the architecture
and supplies of its retail outlets, employee-centric
community service initiatives and the Starbucks
College Achievement Plan. With 2020 objectives
that include targeted hiring initiatives for veterans,
military spouses, at-risk youth and refugees; solar
farms and a transition to renewable energy; and
expanded FoodShare programs and planting trees,
Starbucks hopes to extend its influence while
continuing to serve communities across the world.
The company has also emphasized building
strategic partnerships with existing organizations
to reach its goals.

() 13. What year did Starbucks start releasing
corporate responsibility reports?
(A) 2000
(B) 2001
(C) 2002
(D) 2003

() 14. Which of the following is NOT an already
successful initiative implemented by
Starbucks?

(A) CAFE

(B) Solar farms

(C) Community grants

(D) Ethical coffee sourcing

() 15. Which of the following groups is NOT
included in the 2020 hiring initiatives?
(A) Refugees
(B) At-risk youth
(C) Single parents
(D) Military spouses

FIBIZ 201712SA4-2
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Biz Magazine Biweekly Test Sample

SECTION ONE: LISTENING COMPREHENSION

In the Listening test, you will be asked to demonstrate how well you understand spoken English. The
entire Listening test will last approximately 45 minutes. There are four parts, and directions are given
for each part. You must mark your answers on the separate answer sheet. Do not write your answers in
your test book.

PART 1 Picture Description

Directions: For each question in this part, you will hear four statements about a picture in your test
book. When you hear the statements, you must select the one statement that best describes what you
see in the picture. Then find the number of the question on your answer sheet and mark your answer.
The statements will not be printed in your test book and will be spoken only one time

Example S v
Example ® @ 2] ©
You will hear:

(A) The man is dancing.
(B) Thanks. I try to make it taste like the
real thing.
(C) They’re standing near the table.
(D) Oh, no. Did I add too much cinnamon
again?

Statement (C), “They’re standing near the table,”

is the best description of the picture, so you should select answer (C) and mark it on your answer
sheet.

PART 2 Best Response Questions

Directions: You will hear a question or statement and three responses spoken in English. They will
not be printed in your test book and will be spoken only one time. Select the best response to the
question or statement and mark the letter (A), (B), or (C) on your answer sheet.

Example
You will hear: Where is the meeting room?

You will also hear:  (A) To meet the new director.



(B) 1t’s the first room on the right.
(C) Yes, at two o’clock.

The best response to the question “Where is the meeting room?” is choice (B), “It’s the first room on

the right,” so (B) is the correct answer. You should mark answer (B) on your answer sheet.

PART 3 Conversation Questions

Directions: You will hear some conversations between two people. You will be asked to answer three
guestions about what the speakers say in each conversation. Select the best response to each question
and mark the letter (A), (B), (C), or (D) on your answer sheet. The conversations will not be printed in
your test book and will be spoken only one time.

Listen to the paragraph and answer the gquestions.

Example
You will hear:  (Male) I don’t know if we should make the purchase from Bob or Jim.

(Female) Well, we’ve been using Bob for a long time. And we’re always satisfied.
(Male) True. But I’ve heard good things from other people about Jim.
(Female) So, call up Jim and ask him to give us a quote.

Q: What does the woman want the man to get from Jim?

You will read: (A) The price he will charge for the services and products.
(B) Anexample of the work he does so they can try it out.
(C) Something he says about his product that sounds important.
(D) Adescription of his previous working experience.

The best response to the question “What does the woman want the man to get from Jim?” is (A), “The
price he will charge for the services and products.” Therefore, you should choose answer (A) and write

it in the parentheses in front of the question number.

PART 4 Short Talk

Directions: You will hear some talks given by a single speaker. You will be asked to answer three
questions about what the speaker says in each talk. Select the best response to each question and mark
the letter (A), (B), (C), or (D) on your answer sheet. The talks will not be printed in your test book and
will be spoken only one time.

Example
You will hear:

Scooters are of course a popular form of transportation in Taiwan, but they are catching on in the US
as well. With the price of gas close to three dollars per gallon, commuters are embracing the
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economical scooter. It only takes US$5 to fill its 1.5 gallon gas tank and it can get 101 miles per gallon.
Try doing that in a car! Scooter sales in the US have rocketed from 12,000 sold in 11017 to 113,000 in
2005, and the boom is not expected to slow anytime soon. With more scooters being sold, riders are
forming clubs and lobbying governments for more scooter-friendly laws. There are also a number of
websites devoted to scooter maintenance springing up on the Internet. The cost benefits of scooter
ownership are obvious, but riders say they also enjoy the fun and efficiency of riding a scooter. Try
weaving through traffic jams in a car!

You will hear: 1. How many miles can a scooter get on one tank of gas according to the passage?
You will read:  (A) Fifty miles.

(B) One hundred miles.

(C) One hundred fifty miles.

(D) Two hundred miles.

—  The answer to this question is (C).

SESSION TWO: READING COMPREHENSION

In the Reading test, you will read a variety of texts and answer several different types of reading
comprehension questions. The entire Reading test will last 1545 minutes. There are three parts, and
directions are given for each part. You are encouraged to answer as many questions as possible within
the time allowed. You must mark your answers on you question/answer sheet..

PART 1. Fill-in-the-Blank Questions

Directions: A word or phrase is missing in each of the sentences below. Four answer choices are
given below each sentence. Select the best answer to complete the sentence.
Then mark the letter (A), (B), (C), or (D) on your answer sheet.

1. The financial audit of Soft Peach Software----completed on Wednesday by a certified accounting
firm.
(A) to be
(B) having been
(C) was
(D) were

PART 2. Cloz

Directions: Read the texts that follow. A word or phrase is missing in some of the sentences. Four
answer choices are given below each of the sentences. Select the best answer to complete the text.
Then mark the letter (A), (B), (C), or (D) on your answer sheet.

11



Sample Questions -
These days, Honda sells US$80 billion dollars in products each year. It is an industry leader in cars,
motorcycles, and lawnmowers. Indeed, it’s hard to believe that it once operated out of a wooden
__(3)_. So how did Honda, founded in Japan by Soichiro Honda in 1948, become so successful in the
__(4)__ of strong competition? There are a number of different theories. One put Honda’ success
down __(5)__ a combination of luck, timing, and adaptability instead of a long-term strategy. Honda
initially wanted to sell big motorcycles in the US, since Americans love their gas _ (6)__. But their
employees there realized the little scooters they rode at work attracted a lot of attention, so they
changed their strategy. Another theory says that Honda has benefited from economies of _ (7)__, in
which engines are mass-produced, thus keeping cost-per-unit low. Whatever the reason, there is
definitely some genius behind the making of Honda as a global brand.
()3 (A track

(B) shack

(C) casket

(D) plank

— The answer to this question is (B).

()4 (A way
(B) back
(C) mass
(D) face

—  The answer to this question is (D).

PART 3. Passage Questions

Directions: In this part you will read a selection of texts, such as magazine and newspaper articles,
letters, and advertisements. Each text is followed by several questions. Select the best answer for each
question and mark the letter (A), (B), (C), or (D) on your question/answer sheet.

Sample Questions -

From 11011 to 2002, Argentina struggled with mounting debts and high unemployment, due to
IMF-directed economic policies enacted to fight inflation. Many people blame the IMF for the
economic collapse which followed.

Foreign investors lost confidence in Argentina, prompting a destabilizing movement of USD holdings
offshore, and the government froze bank accounts. The country defaulted on its debts after people took
to the streets, forcing the government to collapse. The currency was previously fixed as equal to the
USD, but this policy was abandoned, leading to a crash which sent many people’s savings and
investments down the drain.

12



A few years later, Argentina has come a long way. The incoming president, Nestor Kirchner, was free
to introduce big changes, like improving the tax collection system and increasing social welfare
spending, while maintaining tight fiscal control. Restructuring Argentina’s debt has saved billions, and
controls to prevent short-term investments have been implemented. The low exchange rate has boosted
exports, attracted investment, and helped the domestic economy by making imports more expensive.

Today, Argentina’s GDP growth rivals China’s, it has no debt to the IMF, and has healthy foreign
currency reserves. There is still a long way to go, but the collapse of 2002 was not all bad.

() 8. Whydid the Argentine government freeze bank accounts?
(A) To restore confidence.
(B) To default on its debts.
(C) To prevent too much money leaving the country.
(D) To follow the IMF’s policies.

—  The answer to this question is (C).

() 9. Whatchange to policy was made after the government collapsed?
(A) Savings and investments were abandoned.
(B) The currency was no longer equal to the dollar.
(C) The US dollar was adopted as the new currency.
(D) Argentina did not repay its debts.

— The answer to this question is (B).

13
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